
31. ilqiit\fq{ Hfrfiur
(LINEAR EQUAT ONS N TWO VAR ABLES)

(;ir) mrfi,t{w{rqrddm,qR ot 
=

IlI. a,.r + bp = 0, ay + bill : O 
a2

4 c1

b2 c2

(i) EI6€.r : 0,y = 0 arfr Eln s-*fs 1 * Io2k (iD +6f, en-<fiqR iL = + ita2 b,

wftnrcfewt
TqT(rsr 1. 56Atfuq: 3x + 2y = 4' 8x + 5), = 9.

fa: Ri'rts*+rqt:
3x+2y:a ...(,) 8.r+5Y=9

(rr)ul 2 t dPn (,)81 5 t Xun mth trurtv<r x= -2.
(Ddx:-2reiq{: 3, (-2) +2y=4
.'. 2y= (4+6)= l0=Y=5.
si(:,r=-2,y:5.

irqT6rsr2. qE ! *6y:l3nEr t *nr=7d,*yqrqrrffialFtrq.

(,,

x x
fe: frtrrisqhrst

53
- + 6y= 13 ...(, ; + 4Y:'t

(,) Bl 3 t il{ (ir) +i .s t Xun 
ql* qzri qt:

-2Y=q=Y=-2.

(,,)

ir(rErsr 3.
x+ y -8 x+2y-14 3x+!-12 draaflfcq.,, ll3

f,a : grTH <) qrrl ti c{:

x+y-B -x+2y-14 = 3@+y-E)=2(x+ zy-t4)23
+ 3x + 3y -24 = 2x + 4y -28 + x - y = - 4
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(0

Aqtfi\fu6{fr*-tur
l, ax + by+ c : 0 qEY a, 4 cqrsl+o€qrd t nqt a+ 0.

wq+\k+-sfr+rqvtlxnenyit
d x au y *' un Es sfi-*-qq +1 vqe q,li t, v{i Ei *'fr( gre +1 5e vet+'rur ql Ea rrtt
t.

tl. gtrra tft-+rur arx + b1! + c, : 0 ilefl *ir + b,il + c2:0

(D +r gq' erfffrq re Et n, qf< lL * ?, (,D + Ed er+< fi, qR 'r = ! = I ,a2 h' a2 b, c2



dqtrdtkdqqtstq
sTfuc Ei qrq ti c{,
x+2y-14 3x+ y -12

3 =--l + ll(x+2y-14):3(3x+y-12)
+ llx+22y-154 - 9.r+ 3/- 36 =2x + l9y: llE

(,) Bl l9 i XurIEr+ (,0 { # y{: 2l.r : 42 + x : z.
ere (f i r : 2 rqi qr:.y = (r + 4) : (2 + 4) : 6.

2, v=6.

(r)dt tl)qari T{: 86r- t61,: 86 =+ 86(r -.1,) = 86 -r-1, - i
(rfl Aqr (,'v) 61 !ilsi ct 2r = 6 =+.r = 3.

(tir){.r = 3 rui wy = (5 -:) : (s - 3) = 2.
x=3, Y=2'

wET6{ur s. * * f*e cr{ * faq qrfro'rsil *x - t - 2 = 0 iTen 6x _ 2y _ 3 = 0 i[.r sGifrq Ed vrq
tmi

ErT: ufrfie6q+fdq iL * -O-
ct2 4

k-tkt(
=-*-=k*l6-262\

I
-x62
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(,r)

(iii)
.( rv)

+ k+3
gcfflur 6. r * fd€ cr{ * ftq x + 2y + 7 = 0 dat 2y + ky + t4= 0 * Br{A Efi fi ?

ErIr el];l<Ed+fdS iL
A2

CFEITilT 3I

.127.. _=_=-__ =k=4.2k14
T(r6{sr 7. * + fas cr{ * frq kx - I 0y - 3 = 0 aefi 3r - s}, _ 7 = 0 Er Bt$ Ef, rfi t n a

*' gq,riqftE{oiiql+tireqfrE}'nqR 'r = L*a
srqk != -lo * ! =*=6. 

a2 4 "''
'3 -5 -7

4cr
hc2

rt* fE+ Ti vr+ { t r+6 { ++, r*t aat fu<ifr ({) dfqq
l. 2x + y = 8 TEI 3/ = + + ax*) Eo qT i c(

(a) x:J, y=-4 (b) x=2, y=a
z. i * ! = lr iTcr | * I :sfr1Ee6dc{

2936
(a) x=36,y=9 (b) x=9,y=9

3. qft 2.r+ 3y=2gaql y = x+ 3 d, dx = ?
(a) 4 (b) s

434. ; * 5v=7?eI; *or= sqlreq-riq{:

(c) x:t, y=4 (d) x:4, y=l

(c) .r=18,y= lE (d) x=18,y=9

(c) 6 (o7

(a) x=i,r=, (b) x=*,r=-t (c) x=l,r=-, (d) x=J,r=,
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5. qR 2I + y -g =otrtEfl (5, t)d, d ft = ?

@)-a (b)-3 k)a
6. qR 3x + 7y:75 ilell 5x - 5y - 25 d, d ,r r.y: ?

@) ta (b) ls (c) 16

7. qRx* 1 : su* u + 1 =13d, d (2x-3y)='tvv
(") I (b) 2 (c) 3

s. rft {x + 6y : 32d\I 4x -2y =a d, d ty= r

@) 2a (6) 30 (c) 36

trqtl+v=lA,d1';-+vt-'!2'
(D) I

3(c) ,
q P -r;1 sse-rivt

EEf{q 3i4,rFld

(o6
( tI* fiosto qftqTr, 2oos )

(d) t7 (e) flqtsir{r-d

(d) s

(o 42 (e) Enqtfr$r-d

(o2

35
(d) k= 

2

-t6(d) k= 
s

9- qTE --+:-=-'4 3 t2

(o) f'2

10.4+!:maqtxyxy
(q' - p') -. (q'- p')

lal X: -:------.-], , - --\s'r ^ (*p-nq)'' lnp-nq)
(p'-q') .. - (q2 - p')

11 *: 1*_iq)' t - 1rp-rq)
ll. qR 24+ 36= 176qr 2a+2 - 3b+ t = S ti, d

(a'1 a=2, b=3 (b) a:'2, b=3

(p'-q2) -. -(p'-q')\b) x= 
lmp_nq), 

t - 
@e_^s\

(q2 - p2) (p'-q')
Idt x: '----"-----:-, , = ---\-.,- @p_nq)'- (np_mq)

( qRo*oqo qfrqn, 2006 )

(c) a=2, b---3 (O a=3, b=2

3x-y+l 2r+y+2 3x +2y +l d,a12. 35
(a) x: l, y:2

l7
(o) k: T

l3(") k= 
s

6
(b't x:- l, y:- I

(b) k= s

-13(b) k-- 
5

27(") k= n
, -14(") *: 

s

(c) x: l,y: | (d) x=2,Y: I

13. gqq({{ftfi{ur 4x+7y= lon{I lox+ tE=25d sr{frE€fi+fusenEv++vdtf+

14. g{TdH+661q 2r+ lcy: ll ipfi 5.r-D= 5urqt{f-o erkaCadVs*fuqetrqwstm

I s. g{q( qfrm{q b - v = 2 aqt 6x - 2v : 3 6'I q{. srFrfrq re dl * feq strs{{fi Yrd t ts
(a) k=0 (b) k+0 (c) k:3

16. grrlt(sfr+{q x+2y= 3ilefl2x +4y:3*'Wt,
(a) +tird (r) *sA (c) ffi<r 1a) ufu-frq

xvtt. 1+ { =aatnr+y= l0*.rot:
(a) x=6,y:-4 (b) x=-6, y=4 (c) x=4, y:6 (A x:6, v:4

r8. cR 3.r- 5y: 5 inn * = id, t (x-y) = ?

(a) 3 (b) 4 (c) 6 (O s (r) r<dtotic-d
19. qR 3 gftlrii aw r tr or gn qe soo t'. d qqf+ s gfttt' aur r ftif m {e zl 0o Fo d, ft

+gfiffiffi t i-smgraqwttm:
(a) l000Fo (D) l050Fo (c) l100Eo (d) ttS0to

(A k*3
(qro*oqo qfrqn, 2006 )
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20. 2*,kqYH'r + +rHurgnqw 16000 Fo tEqF6 r Hrdda{ 6sdlii qrEie{fl sEil{
nl t. r z EEdlii sr S-f, {€c ts-r{r dfl ? ( H cfrqlT, 2006 )
(a) 12000t.o (6) 24000F. (c) 48000Fo (4 ilflr-djfuqrqrrFFar

EilqTFTT
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o
(
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n)

(

(
o
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(c)

(6)

(b)

(b)

I b)
I I to I I I

)
2

3

l3
4.

t4.
5.

5.

6.

6.

7

7

9

9t
10.

20.

(c)

(c)
8. (r)

18. (a)

(c)

(c)
G)
(c)

Etltur{*ro
t. zt + y =s , ...(,) Ec .y = j to * orl ...(i,)

1i4ty+rrn 14 droiw: u* ! O+4:)=r +6x+(4+ 4x)=2o* tox:20+x:2
14 d, = z rei vr, 4 + y = I + y= {.
.. x=2,y=4.

z. frirriqqt+rqE:
9x + 2y = l9E ...(j) nql 2x + y = 54 ...(i,)

(ir) +1 Z t gun m* 14 d t vaTi w: Sr = (l9E - t08) : 90 =+.r = rE.

(,r) d,x = ts (sic(, 36 + y = 54+y: 18.

18, y = 18.

3. 2x+3y=29 ...(r, y:x+3 .0j)
(ir)tyolrn l4dtoiw: 2r + 3(x + 3)= Zg = 5x = 20 + x = 4.

4. fd Tn qfi-fiq t 4

, + 5Y=l (D, | . o, =s ...0i)

(i) o1 a t {un otil arr 64 *i s t Xun +r* veri 
". } 

=, =, = 
1 

.

.. I(r)c.r= J {GH rR 12 +5y=7 +5y=-Jay=-1.
.l.. r= 1,y=-t.

5, 2r+y-6:O dr=5, r= 16f 11{ lO+t:6+r(:-4.
6. ft<i.risqt+tott: 3x+7y:75 ...(,), x. y=5 ...(rj)

(,D 7 tXw 6,(* 14 {silgi x: lo: = llo =+.r= I l.
(r,)dx= rr roi cr, |-y:5ay=6.
.. x+y:(ll +6):17.

l37.x+-:5 ...(r), 2r+-:t3 ...01)

(,) ,i 3 t Xw 6'{* (,i) sili q(. .T - 2.

ri) {r =2{cli*, l=l =y=+. .'. (zx-3y)=(r,r-r,l'l =,0- 
',=,y 5 -. \ 3)

8.2x+3y=16 ...(r, b-y=Z ...(,r)

14 t t 1i4 qeri c( ly = t4 + 8y = 23.

9.3x+4y:5 ...(0, x+2y-2 ...(r0

(r0 61 3 t .1,r+,l+ (r)qeri c(, zy = t + y = l.
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l0

.I(r)q/=, TGFIr{, 3x+2:5+3x=3=x=f. .'. A.f)=(

Z*!:n ...(i), !*L:n ...(ii\
xyay

1i) +1 p t aer (i0 +1 q t Xw oril' eeri w

p2 q2 --- (p2'q2) 
=(mo-na\= r=(p2-q'):-_-.:-=mp-nq=) -t t (^P-nq)'

(i) q1 s t den (,D E1 p t 1"fl 6Cfi q-ai vt'

t*1I
3

z

s<f{E si6,rrFrfl

(r)

(i,)

02 o2 (q2 - p2\ ( p2 -q2)

)' Y 5 @P-n<1)

ll, Zo 13b=.17 ...(0 nq] t2t2"- 3'36:5 = 4x}u-'3,36=5 ...(,i)

Za = x3,ql3l:y tei W:

v+y:17 ...(r,D ReII lr-lY= 5 (iv)

(,i4 sl 3 t ryn urt (iv) d frsi c( ?.t = 56 .+ r = 8. (,ii) d x: 8 (si c(, )' = 9'

.. 12o:8=23+a=3)dtn 1lh=9:32 + b=2)
' -:1. L=1

3x- v+l 2x+v+2,r. '+ = 5(3r-y+ t):3(2r +y+2\+ 9r j8y= I

2x+v+2 3x +?v+l-- , -=" 1, ' 
= 6(Lx+y+l)= J(Ja+)y+ l).=3x+4y:7

56
(,0s1 2t{unq''$ (,t qls-i T{, I5:= l5 +'r= l' (')i r= I ttgiq( 8v=$ 3v= 1

... ,r: l, y: l.
...- 4 7 l0-,._35

t3. 31!trr Ef, t'Tl sTels l0= k= 25= *=T',

14. q6I At
= 

t.tt=Il. fidrerfid,nqE
-7c^5

2 k ll -14
"5-755

k -l
ts. qfffrqEfl+ffi e*J

J

J

h,

b2

rh I h
16. TEI r =:, :-a2Zb2

a'hcr' 
-.1- = -r- * --r.a2 b2 c2

17. 3x+2y=24 ...(r)

erd: t<q TrE grr(d qffi{ul6I +ti re rd t

(,D61 2tTurq'+ (Dte s-dri qt,.r=4. (,,)t 4+,.,= l0+v:6'
.., x=4, y=6.

18. 3x-5y:5 ...(r, 7x=5x+5y + 2x- 5y:0 "'('D
(0ffii(,,)61 qlsiIR, x= 5. (,,)dx:5 rsi q( 5y=10+ v:2. ..(r-),)=(5-2)=3'

19. rtril I S'S q'r tg =rFo iqT I i-q 6r Tq =yFo. (f, 3x+/:900 ...(r), 5x+ 3v=2100 '(ii)

(,) q1 3 t 1lr 6'& (ii) Er.Ii q{, 4-x = 600 + x = I50.

(,)d.r= lsotsiT{, y:450. +gfiirdaw t tsurq* =(4 x l50+ 450){o :1050{o'

20. qrirr I r$ E'r qw = I po tt{T t efrs a qe =y {o. ?lit

2-x,+4y:16000 = .x+ 2y= E000 ...(i) nzIT x+6v= l6ggg "'(ri)

(rD { t (,) Esrt q{, 4y = 8000 + .v = 2000.

tZaffifiI{g =(12 x 2000) Fo =24000Fo.

ot =4 *"ta2hc2z4
s'hO.

lo,l,
2 l' ct

=-=- deII ---.:-

42cz

k+3

defl r+/= l0 ...(rr)


